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TEST IV 
UNIT VI INDIAN ECONOMY & UNIT X APTITUDE AND MENTAL ABILITY 

 

1. “Money is, what money does” who stated? 
a. Crowther b. Walker  c. Irving Fisher  d. J.M. Keynes 
“gzk; vijr; nra;fpwNjh> mJjhd; gzk;” ahh; $wpaJ? 
a. fpnusjh;  b. thf;fh;  c. ,h;tpq; gp~h;  d. J.M. fPd;]; 
 

2. Which of the following is the most liquid form of capital? 
a. Gold  b. Silver  c. Money  d. Bond 
gpd;tUtdtw;Ws; vJ mjpf ePh;ikj; jd;ik nfhz;l %yjdkhFk;? 
a. jq;fk;  b. nts;sp  c. gzk;  d. gj;jpuk; 
 

3. M3=M2 + ________ 
a. Total deposits with post offices 
b. Demand Deposits 
c. Savings deposits with post office savings banks 
d. Time deposits of all commercial and cooperative banks 
M3 = M2 + _________ 
a. mQ;ryfj;jpYs;s midj;J itg;Gfs; 
b. Nfl;G itg;Gfs; 
c. mQ;ryf Nrkpg;G tq;fpapd; Nrkpg;G itg;Gfs; 
d. midj;J tzpf tq;fpfs; kw;Wk; $l;LwT tq;fpfspYs;s fhy itg;Gfs; 
 

4. How many measures of money supply are there in India? 
a. Two  b. Three  c. Four  d. Five 
,e;jpahtpd; gz mspg;gpy; vj;jid mstPLfs; cs;sd? 
a. ,uz;L  b. %d;W  c. ehd;F  d. Ie;J 
 

5. The symbol of Indian rupee (₹ ) came into use on 
a. 15th July 2010   b. 15th August 2010 
c. 26th January 2010  d. 2nd October 2010 
,e;jpa &ghapd; gzf;FwpaPL (₹ ) gad;ghl;bw;F te;j ehs; 
a. [{iy 15> 2010  b. Mf];l; 15> 2010 
c. [dthp 26> 2010  d. mf;Nlhgh; 2> 2010 
 

6. Match the following  
A. M1 and M2   1. Broad Money 
B. Fisher    2. Quantity theory of Money 
C. Cambridge   3. Narrow Money 
D. M3 and M4   4. Cash Balance Approach 
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nghUj;Jf 
A. M1 kw;Wk; M2  1. gue;jepiy gzk; 
B. /gp~h;    2. gz msT Nfhl;ghL 
C. Nfk;gphpl;[;   3. FWfpa gzk; 
D. M3 kw;Wk; M4  4. nuhf;f ,Ug;G mZFKiw 
 A B C D 
a. 3 4 2 1 
b. 3 2 4 1 
c. 1 2 4 3 
d. 1 4 2 3 
 

7. Match the following 
Equations    Formulas 
A. Fisher’s equation  1. n = PK 
B. Marshall’s equation  2. M = KPY 
C. Keynes’s equation  3. PT = MV + M1V1 
nghUj;Jf 
rkd;ghLfs;   #j;jpuq;fs; 
A. /gp~hpd; rkd;ghL  1. n = PK 
B. khh;~ypd; rkd;ghL  2. M = KPY 
C. fPd;rpd; rkd;ghL  3. PT = MV + M1V1 
 A B C 
a. 3 1 2 
b. 1 3 2 
c. 2 1 3 
d. 3 2 1 
 

8. Who wrote the book “The purchasing power of money”? 
a. Irving Fisher  b. Coulbourn c. Gregorye d. Crowther 
“gzj;jpd; thq;Fk; rf;jp” vd;w E}iy vOjpath; ahh;? 
a. ,h;tpq; /gp~h; b. Nfhy;gh;d; c. fphpnfhp  d. fpnusjh; 
 

9. How many types of inflation are there on the basis of speed? 
a. 2  b. 3  c. 4  d. 5 
Ntfj;jpd; mbg;gilapy; vj;jid tifahd gztPf;fk; cs;sJ? 
a. 2  b. 3  c. 4  d. 5 
 

10. “Inflation is taxation without legislation” who stated? 
a. Gregorye b. Coulbourn c. Marshall  d. Milton Friedman 
“gztPf;fk; rl;lg+h;tkw;w thptpjpg;G” ahh; $wpaJ? 
a. fphpnfhp  b. Nfhy;gh;d; c. khh;~y;  d. kpy;ld; gpnuLNkd; 
 

11. The first hyper inflation of the 21st century prevailed in which country? 
a. Sudan  b. Lebanon  c. Zimbabwe  d. Iran 
21Mk; E}w;whz;bd; Kjy; cah; gztPf;fk; ve;j ehl;by; epytpaJ? 
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a. #lhd;  b. nygdhd; c. [pk;ghg;Nt  d. <uhd; 
12. Consider the following 

Assertion (A): The cost of essential food commodities rise in natural calamities 
such as flood. It is called Demand – Pull inflation. 
Reason (R): If the demand is high for a product and supply is low, the price of 
the products increases. 
a. Both (A) and (R) are correct and (R) is the correct explanation of (A) 
b. Both (A) and (R) are correct and (R) is not the correct explanation of (A) 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): nts;sk; Nghd;w ,aw;ifg; Nghplh;fspd; NghJ mj;jpahtrpa 
czTg; nghUl;fspd; tpiy cah;fpwJ. ,J Njit - ,Og;G gztPf;fk; 
vd;wiof;fg;gLfpwJ. 
fhuzk; (R): xU nghUSf;fhd Njit mjpfkhfTk;> mspg;G FiwthfTk; 
,Ue;jhy; nghUl;fspd; tpiy caUk; 
a. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 

13. Consider the following 
Assertion (A): Increase in exports is one of the causes of Inflation 
Reason (R): When exports are encouraged, domestic supply of goods decline 
a. Both (A) and (R) are correct and (R) is the correct explanation of (A) 
b. Both (A) and (R) are correct and (R) is not the correct explanation of (A) 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): Vw;Wkjp cah;T gztPf;fj;jpw;fhd fhuzq;fSs; xd;whFk;. 
fhuzk; (R): Vw;Wkjpfs; Cf;Ftpf;fg;gLk; NghJ> cs;ehl;by; nghUl;fspd; 
mspg;G FiwfpwJ. 
a. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 
 

14. Choose the correct statement 
1. During inflation the value of money undergoes considerable 

depreciation, this may not drain out the foreign capital already invested 
in the country 

2. Hyper-inflation results in a serious depreciation of the value of money 
and it discourages savings on the part of the public 
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a. 1 correct  b. 2 correct  c. 1 and 2 correct  d. 1 and 2 wrong 
rhpahd thf;fpaq;fis Njh;e;njL 
1. gztPf;fj;jpd; nghOJ gzj;jpd; kjpg;G Fwpg;gplj; jFe;j msT 

Fiwtjhy; ehl;by; Vw;fdNt nra;ag;gl;bUf;Fk; ntspehl;L %yjdq;fs; 
ehl;bypUe;J ntspNawhJ 

2. cah; gztPf;fk;> gzj;jpd; kjpg;gpid Fiwg;gjd; %yk; kf;fspd; 
Nrkpg;ig Fiwf;Fk;. 

a. 1 kl;Lk; rhp b. 2 kl;Lk; rhp c. 1 kw;Wk; 2 rhp d. 1 kw;Wk; 2 jtW 
 

15. Choose the correct statement 
1. During inflation creditors are gainers while the debtors are losers. 
2. The fixed income groups are the worst hit during inflation. 
3. Inflation is the boon to the entrepreneurs  

a. 2 only  b. 2, 3  c. 3 only  d. 1, 2, 3 
rhpahd thf;fpaj;ij Njh;e;njL 
1. gztPf;f fhyj;jpy; fld; toq;fpNahh; ,yhgj;ijAk; fld; ngw;Nwhh; 

,og;igAk; re;jpf;fpd;wdh;. 
2. epiyahd tUthia cila gphptpdh; gztPf;fj;jpdhy; kpfTk; 

ghjpf;fg;gLfpd;wdh;. 
3. gztPf;fk; njhopy; KidNthh;fSf;F xU tukhFk; 
a. 2 kl;Lk;  b. 2> 3   c. 3 kl;Lk;  d. 1> 2> 3 
 

16. Consider the following statements 
Statement 1: The investors invest in fixed interest yielding bonds and 
securities have much to lose during inflation. 
Statement 2: The investors invest in shares stand to gain by rich dividends 
and appreciation in value of shares during inflation 
a. Both S1 and S2 are correct and S2 explains the S1 
b. Both S1 and S2 are correct but S2 does not explains the S1 
c. S1 is correct but S2 is wrong 
d. Both S1 and S2 are wrong 
gpd;tUtdtw;iw Ma;f 
$w;W 1: epiyahd tl;b jUk; gj;jpuq;fspy; KjyPL nra;Ak; KjyPl;lhsh;fs; 
gztPf;f fhyj;jpy; mjpf ,og;gpid re;jpg;ghh;fs; 
$w;W 2: gq;Ffspy; KjyPL nra;Ak; KjyPl;lhsh;fs; gztPf;f fhyj;jpy; ey;y 
,yhg <T kw;Wk; gq;F kjpg;Ngw;wk; Nghd;w Mjhaq;fis ngWthh;fs; 
a. $w;W 1 kw;Wk; $w;W 2 rhp $w;W 2 MdJ $w;W 1f;fhd rhpahd tpsf;fk; 

MFk; 
b. $w;W 1 kw;Wk; $w;W 2 rhp $w;W 2 MdJ $w;W 1f;fhd rhpahd 

tpsf;fky;y 
c. $w;W 1 rhp $w;W 2 jtW 
d. $w;W 1 kw;Wk; $w;W 2 jtW 
 

17. Select the correct measures to control inflation 
1. Increase in Bankrate   2. Decrease in Repo rate 
3. Decrease in Reverse Repo rate  4. Increase in cash reserve ratio 
5. increase in statutory liquidity ratio 
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a. 1, 2, 4, 5  b. 1, 3, 4, 5  c. 1, 4, 5  d. 1, 2, 3, 4, 5 
gztPf;fj;ij fl;Lg;gLj;j rhpahd topKiwfisj; Njh;e;njLf;fTk; 
1. tq;fp tpfpjj;ij cah;j;Jjy; 
2. kPs; thq;fy; tpfpjj;ij Fiwj;jy; 
3. jpUg;g kPs;thq;fy; tpfpjj;ij Fiwj;jy; 
4. nuhf;f ,Ug;G tpfpjj;ij cah;j;Jjy; 
5. rl;lg;g+h;t ePh;ik tpfpjj;ij cah;j;Jjy; 
a. 1> 2> 4> 5 b. 1> 3> 4> 5 c. 1> 4> 5  d. 1> 2> 3> 4> 5 
 

18. Match the following 
Bank     Year 
A. Bank of Bengal  1. 1843 
B. Bank of Bombay  2. 1840 
C. Bank of Madras  3. 1770 
D. Bank of Hindustan 4. 1809 
nghUj;Jf 
tq;fp     Mz;L 
A. tq;fhs tq;fp  1. 1843 
B. ghk;Ng tq;fp   2. 1840 
C. nkl;uh]; tq;fp  3. 1770 
D. `pe;J];j;jhd; tq;fp 4. 1809 
 A B C D 
a. 3 4 2 1 
b. 4 1 2 3 
c. 3 2 4 1 
d. 4 2 1 3 
 

19. Which of the following is the primary functions of Commercial Banks? 
1. Accepting Deposits  2. Advancing Loans 
3. Transfer of Funds  4. Credit Creation 
a. 1   b. 1, 2  c. 1, 2, 3  d. 1, 2, 3, 4 
gpd;tUtdtw;Ws; vJ tzpf tq;fpfspd; Kjd;ikg; gzpfs; MFk;? 
1. itg;Gfis Vw;Wf;nfhs;Sjy;  2. fld;fs; toq;Fjy; 
3. epjpfis ,lkhw;Wjy;   4. fld; cw;gj;jp nra;jy; 
a. 1   b. 1, 2  c. 1, 2, 3  d. 1, 2, 3, 4 
 

20. Consider the following  
Assertion (A): Primary deposits are also called “passive deposits” 
Reason (R): The banks make loans and advances to its customers from 
primary deposits. The initiatives of primary deposits are taken by the 
customers themselves. 
a. Both A and R are correct and R is the correct explanation of A 
b. Both A and R are correct and R is not the correct explanation of A 
c. A is true but R is false 
d. A is false but R is true 
gpd;tUtdtw;iw Ma;f 
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$w;W (A): Kjd;ik itg;Gfs; “nrayw;w itg;Gfs;” vd;Wk; 
miof;fg;gLfpwJ. 
fhuzk; (R): tq;fpfs; mjd; thbf;ifahsh;fSf;F Kjd;ik itg;Gj; 
njhifapypUe;J fld;fs; kw;Wk; Kd;gzq;fis toq;Ffpd;wd. Kjd;ik 
itg;Gj;njhifapd; Kd;Kaw;rpfs; thbf;ifahsh;fshy; vLf;fg;gLfpd;wd. 
a. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ Af;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R ,uz;Lk; rhp Mdhy; R vd;gJ Af;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 

21. Which of the following is the role of Commercial Banks in Economic 
Development? 
1. Capital formation 
2. Channelizing the funds towards productive investment 
3. Encouraging Right type of industries. 
4. Employment Generation 
a. 1 only  b. 1, 2  c. 1, 2, 3  d. All of these 
gpd;tUtdtw;Ws; vJ nghUshjhu tsh;r;rpapy; tzpf tq;fpfspd; gq;F MFk;? 
1. %yjd jpul;rp 
2. mjpf cw;gj;jpj;jpwid nfhz;l KjyPl;il Nehf;fp gzj;ij 

Kiwg;gLj;Jjy; 
3. rhpahd njhopw;rhiyfis Cf;Ftpj;jy;  
4. Ntiytha;g;gpid cUthf;Fjy; 
a. 1 kl;Lk;  b. 1> 2  c. 1> 2> 3  d. ,it midj;Jk; 
 

22. Choose the wrong statement about Non-Banking Financial institution 
1. They are supervised by the Central Bank 
2. They operate in both the money markets and the capital markets. 
3. They mobilize people’s savings and use the funds to finance 

expenditure on investment activities. 
a. 1 only  b. 1 and 2  c. 2 and 3   d. 1, 2, 3 
tq;fpay;yhj epjp epWtdq;fis gw;wp jtwhd thf;fpaq;fis Njh;e;njL 
1. mitfs; ika tq;fpahy; fz;fhzpf;fg;gLfpd;wd. 
2. mitfs; gzr;re;ijapYk; %yjdr; re;ijapYk; nray;gLfpd;wd. 
3. mitfs; kf;fspd; Nrkpg;igj; jpul;b> me;epjpia KjyPl;L 

eltbf;iffSf;fhd nrytpdq;fSf;F gad;gLj;Jfpd;wd. 
a. 1 kl;Lk;  b. 1 kw;Wk; 2 c. 2 kw;Wk; 3  d. 1> 2> 3 
 

23. When was RBI nationalised? 
a. April 1, 1935   b. January 26, 1950 
c. August 15, 1947  d. January 1, 1949 
RBI vg;NghJ Njrpakakhf;fg;gl;lJ? 
a. Vg;uy; 1> 1935   b. [dthp 26> 1950 
c. Mf];l; 15> 1947  d. [dthp 1> 1949 
 

 

24. Choose the correct statement about RBI  
1. C.D. Deshmukh was the first Governor of RBI 
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2. The Headquarter of RBI moved from Calcutta to Mumbai in 1936 
3. It is also called as “Lender of Last Resort” 

a. 1, 3  b. 2, 3  c. 1, 2, 3  d. 3 only 
RBI gw;wpa rhpahd thf;fpaj;ij Njh;e;njLf;fTk; 
1. C.D. Nj~;Kf; RBI-d; Kjy; MSeh; Mthh; 
2. 1936,y; RBI-d; jiyik mYtyfk; fy;fj;jhtpypUe;J Kk;igf;F 

khw;wg;gl;lJ. 
3. ,J “filrpepiyf; fld; <Nthd;” vd;Wk; miof;fg;gLfpwJ. 
a. 1, 3  b. 2, 3  c. 1, 2, 3  d. 3 kl;Lk; 
 

25. What does the Sanskrit word “Raupya” mean? 
a. Gold  b. Silver  c. Copper  d. Bronze 
rk];fpUj nrhy;yhd “nusg;gpah” (Raupya) tpd; nghUs; vd;d? 
a. jq;fk;  b. nts;sp  c. nrk;G  d. ntz;fyk; 
 

26. Each Indian rupee note has its amount written in how many languages? 
xt;nthU ,e;jpa &gha; Nehl;bYk; mjd; kjpg;G vj;jid nkhopfspy; 
vOjg;gl;bUf;Fk;? 
a. 14  b. 15  c. 17  d. 22 
 

27. Choose the correct statement? 
1. If the cash Reserves Ratio is high the commercial bank’s capacity to create 

credit will be less and if the cash Reserve Ratio is low, the commercial 
bank’s capacity to create credit will be high. 

2. Repo rate is always greater than Reverse Repo Rate in India 
a. 1 only  b. 2 only  c. 1 and 2  d. None of these 
rhpahd thf;fpaj;ij Njh;e;njL 
1. nuhf;f ,Ug;G tpfpjk; mjpfkhf ,Ue;jhy; tzpf tq;fpffspd; fld; 

cw;gj;jp FiwthfTk;> nuhf;f ,Ug;G tpfpjk; Fiwthf ,Ue;jhy; tzpf 
tq;fpfspd; fld; cw;gj;jp mjpfkhfTk; ,Uf;Fk; 

2. ,e;jpahtpy; nug;Ngh tpfpjk; vg;nghOJk; kPs;nug;Ngh tpfpjj;ij tpl 
mjpfkhfNt ,Uf;Fk; 

a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 kw;Wk; 2 d. ,it vJkpy;iy 
 

28. Match the following 
nghUj;Jf 
A. NABARD  1. 1948 
B. ARDC   2. 1964 
C. RRBs   3. 1982 
D. IFCI   4. 1963 
E. IDBI   5. 1975 
 A B C D E 
a. 3 4 5 1 2 
b. 3 4 2 1 5 
c. 2 3 5 4 1 
d. 4 3 2 1 5 
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29. Who wrote the book “Monetary History of the united states, 1867-1960”? 
a. J.M. Keynes b. Irving Fisher c. Coulbourn d. Milton Friedman 
“mnkhpf;f If;fpa muRfspd; gztpay; tuyhW 1986-1960” vd;w E}iy 
vOjpath; ahh;? 
a. J.M. fPd;]; b. ,h;tpq; gp~h; c. Nfhy;gh;d; d. kpy;ld; /gpiul;Nkd; 
 

30. When was the first ATM introduced? 
a. 1957  b. 1967  c. 1977  d. 1987 
Kjy; jhdpaq;fp gzk; toq;Fk; ,ae;jpuk; (ATM) vg;nghOJ 
mwpKfg;gLj;jg;gl;lJ? 
a. 1957  b. 1967  c. 1977  d. 1987 
 

31. Match the following 
A. Absolute Advantage Theory   1. Ray Vernon 
B. Comparative Advantage Theory  2. Adam Smith 
C. Factor – Proportions Theory   3. David Ricardo 
D. International Product Life Cycle  4. Heckscher – Ohlin 
nghUj;Jf 
A. KO ed;ik Nfhl;ghL    1. Nu nth;dd; 
B. xg;gPl;L ed;ik Nfhl;ghL    2. Mlk; ];kpj; 
C. fhuzp – rhptpfpj Nfhl;ghL   3. Nltpl; hpf;fhh;Nlh 
D. gd;dhl;Lg; nghUspd; tho;f;if Row;rp 4. n`f; nrh;-xypd; 
 A B C D 
a. 2 3 4 1 
b. 3 2 4 1 
c. 3 2 1 4 
d. 4 1 2 3 
 

32. Who wrote the book “Principles of Political Economy and Taxation”? 
a. Eli Heckscher  b. Bertil Ohlin c. David Ricardo d. Haberler 
“murpay; nghUshjhuk; kw;Wk; thptpjpj;jypd; Nfhl;ghLfs;” vd;w E}iy 
vOjpath; ahh;? 
a. ,yp n`f;rh;  b. ngh;by; xypd; c. Nltpl; hpf;fhh;Nlh d. `h;ngh;yh; 
 

33. Match the following 
A. Net Barter Terms of Trade   1. Eli Heckscher 
B. Income Terms of Trade    2. Taussig 
C. Modern Theory of International Trade 3. G.S. Dorrance 
nghUj;Jf 
A. epfu gz;lkhw;W thzpg tPjk;   1. ,yp n`f;rh; 
B. tUtha; thzpg tPjk;    2. jhrpf; 
C. Gjpa gd;dhl;L thzpgf; Nfhl;ghL  3. G.S. Nlhuhd;]; 
 A B C   A B C 
a. 1 2 3   c. 3 2 1 
b. 1 3 2  d. 2 3 1 
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34. _______ inflation is in no way dangerous to the economy.  
a. walking   b. running   c. creeping  d. galloping 
_______ gztPf;fk; nghUshjhuj;jpid ve;j tifapYk; ghjpf;fhJ 
a. elf;Fk;  b. XLk;  c. jtOk;  d. jhTk; 
 

35. Which of the following is components of Balance of Payments? 
a. The current account   b. The capital account   
c. The official settlement account  d. All of these 
gpd;tUtdtw;Ws; vJ may;ehl;L nrYj;Jepiyapd; $Wfs; MFk;? 
a. elg;G fzf;F    b. %yjd fzf;F 
c. ika tq;fp jPh;T fzf;F  d. ,it midj;Jk; 
 

36. Which of the following is types of Balance of Payment Disequilibrium? 
a. Cyclical Disequilibrium  b. Secular Disequilibrium 
c. Structural Disequilibrium  d. All of these 
gpd;tUtdtw;Ws; vJ may;ehl;L nrYj;Jepiy rkdw;w epiyapd; tiffs; 
MFk;? 
a. Row;rp rkdw;w epiy  b. ePz;lfhy rkdw;w epiy 
c. fl;likg;G rkdw;w epiy  d. ,it midj;Jk; 
 

37. Which of the following is favourable Balance of Payment? 
Here R is International Receipts 
 P is International Payments  
a. R/P = 1  b. R/P > 1  c. R/P < 1  d. R + P = 1 
gpd;tUtdtw;Ws; vJ rhjfkhd may;ehl;Lr; nrYj;Jepiy MFk;? 
,q;Nf  R vd;gJ gd;dhl;L tuTfs; 
  P vd;gJ gd;dhl;L nryTfs; 
a. R/P = 1  b. R/P > 1  c. R/P < 1  d. R + P = 1 
 

38. In which year Indian Rupee was devalued? 
a. 1949  b. 1966  c. 1991  d. All of these 
ve;j Mz;by; ,e;jpa &ghapd; kjpg;G Fiwf;fg;gl;lJ? 
a. 1949  b. 1966  c. 1991  d. ,it midj;Jk; 
 

39. Which of the following is not the factors determining Exchange Rate? 
a. Recession    b. Speculation 
c. Public Dept    d. Income Adjustments 
gpd;tUtdtw;Ws; vJ nryhtzp khw;W tPjj;ij eph;zapf;Fk; fhuzpfs; 
my;y? 

 a. nghUshjhug; gpd;dpwf;fk;  b. Cf tzpfk; 
 c. nghJf;fld;    d. tUkhdk; rhp nra;jy; 
 

40. Which of the following is an objectives of Foreign Direct Investment? 
1. Sales Expansion  2. Acquisition of Resources 
3. Capital Flow   4. Minimization of Competitive Risk 
a. 1, 2  b. 1, 2, 4  c. 1, 2, 3  d. 1, 2, 3, 4 
gpd;tUtdtw;Ws; vJ ntspehl;L Neub %yjdj;jpd; Nehf;fq;fs; MFk;? 
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1. tpw;gidia tphpTgLj;Jjy; 2. ,aw;if tsq;fis ifafg;gLj;Jjy; 
3. %yjdg; ngah;T   4. Nghl;b ,lh;fis Fiwj;jy; 
a. 1, 2  b. 1, 2, 4  c. 1, 2, 3  d. 1, 2, 3, 4 
 

41. The difference between the compound interest and simple interest accrued on an 
amount of ì 18,000 in two years is ì 45. Then the rate of interest per annum is  
,U tUlq;fspy; ì 18,000 kPjhd $l;L tl;b> jdptl;b Mfpatw;wpd; tpj;jpahrk; ì 
45 vdpy; tUltl;b tPjk;  
a. 12%   b. 5%   c. 18% d. 10%  

 

42. A sum of money becomes eight times of itself in 3 years at compound interest. 
The rate of interest per annum is:  
$l;L tl;bf;F tplg;gLk; xU Fwpg;gpl;l njhif 3 Mz;Lfspy; mijg; Nghy 
vl;L klq;fhfpwJ vdpy; Mz;L tl;b tPjk; vt;tsT?  
a. 100%    b. 80%   c. 20%   d. 10% 

 

43. Find the compound interest on Rs. 20,000 at 15% per annum for 
1

2
3

 years. 

&. 20>000f;F 15% Mz;L tl;b tPjj;jpy; 
1

2
3

 Mz;LfSf;Ff; $l;L tl;biaf; 

fhz;f 
a. Rs. 7,572.50  b.Rs.7,500.20  c. Rs. 7,772.50   d. Rs. 7,552.50 

 

44. The population of a village has a constant growth of 5% every year. If its present 
population is 1,04,832, what was the population two years ago approximately? 
xU fpuhkj;jpd; kf;fs; njhif xNu rPuhf xt;nthU Mz;Lk; 5% tPjj;jpy; 
$bf;nfhz;L nry;fpwJ. ,g;nghOJ mjd; kf;fs; njhif 1>04>832 vdpy; ,uz;L 
Mz;LfSf;F Kd; vd;dthf ,Ue;jpUf;Fk;?(KOvz; jpUj;jkhf) 
a. 115577  b. 95,086  c. 96,450  d. 98,063 

 

45. Find the difference between Simple Interest and Compound Interest for a sum of 
₹ 8,000 lent at 10% p. a. in 2 years. 
&.8000f;F 10% tl;b tPjk; vdpy; ,uz;L Mz;Lfspy; fpilf;Fk; $l;L tbf;Fk; 
jdptl;bf;Fk; cs;s tpj;jpahrj;ijf; fhz;f. 
a.Rs.80  b.Rs. 50  c. Rs. 30  d. Rs. 95 

 

46. Find the compound interest on Rs. 15,625 for 9 months, at 16% per annum 
compounded quarterly.  
& 15>625 I 9 khjq;fSf;F 16% Mz;L tl;b tPjj;jpy; KjyPL nra;jhy;> tl;b 
fhyhz;Lf;F xU Kiw Nrh;f;fg;gl;lhy;> $l;L tl;biaf; fhz;f.  
a. Rs. 1,990  b. Rs. 1,968  c. Rs. 1,937  d. Rs. 1,951 

 

47. Find the compound interest on Rs. 20000 for 
1

3
2

 years at 20% per annum 

compounded yearly? 

Mz;Lf;nfhUKiw tl;b fzf;fplg;gLk; Kiwapy; 
1

3
2
 Mz;LfSf;F 20000 

&gha;f;fhd $l;L tl;bia fhz;f. 
a. 10816   b. 38016  c. 18016  d. 16081 
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48. The time taken for ₹ 4400 to become ₹ 4851 at 10%, compounded half yearly is 
_______. 

a. 6 months   b. 1 year    c. 
1

1
2

years   d. 2 years 

10% Mz;L tl;bapy;> miuahz;Lf;nfhU Kiw tl;bf; fzf;fplg;gl;lhy;> ₹ 4400 
MdJ ₹ 4851 Mf ______ Mz;Lfs; MFk;. 

a. 6 khjq;fs;   b. 1 Mz;L   c. 
1

1
2
Mz;Lfs;  d. 2 Mz;Lfs; 

 

49. Certain sum of money invested at a certain rate of compound interest triples in 7 
years. In how many years will it become 81 times?  
a. 28 years   b. 36 years    c. 72 years   d. 77 years  
xU Fwpg;gpl;l $l;L tl;b tPjj;jpy; KjyPL nra;ag;gLk; xU Fwpg;gpl;l njhif 7 
Mz;Lfspy; mijg; Nghy %d;W klq;fhfpwJ. mJ vj;jid Mz;Lfspy; 81 
klq;fhFk;?  
a. 28 Mz;Lfs;  b. 36 Mz;Lfs;   c. 72 mz;Lfs;  d. 77 Mz;Lfs; 

 

50. A person gets Rs. 50,000 (Fifty thousand) as loan with interest rate 4% p.a. from a 
bank. If the interest is calculated year wise, then the compound interest, after 
two years, is 
xUth; Mz;L tl;b 4% vd &. 50>000 (Ik;gjhapuk;) tq;fpapypUe;J fldhf 
ngWfpwhh;. Mz;Lf;nfhU Kiw tl;b fzf;fpl;lhy;> ,uz;L Mz;Lfs; fopj;J 
mth; fl;l Ntz;ba $l;L tl;bahdJ  
a. Rs.4,000   b. Rs.2,000  c. Rs.2,080     d. Rs.4,080 

 

51. The compound interest on Rs. 30,000 at 7% per annum is Rs. 4, 347. The period 
(in Years) is  
&. 30>000 vd;w njhiff;F> Mz;bw;F 7% $l;L tl;b tpfpjj;jpy; vj;jid 
Mz;Lfspy; $l;L tl;b &4>347 fpilf;Fk;;? 

a. 2 years  b. 2 
 

 
 years  c. 3 years  d. 4 years 

 

52. The difference between compound interest and simple interest on a sum for 2 
years at 8 percent is ì  768. The sum is 
,uz;L tUlq;fSf;F 8% tl;b tpfpjj;jpy; vspa kw;Wk; $l;L tl;bf;Fk; cs;s 
NtWghL ì 768 vdpy; njhifahdJ 
a. ì  1,00,000  b. ì l, 10,000  c. ì 1,20,000               d. ì 1,70,000    

 

53. At what rate percent of compound interest per annum will Rs. 640 amount to Rs. 
774.40 in 2 years, when interest is being compounded annually? 
&.640 mryhdJ 2 Mz;Lfspy; ve;j $l;L tl;b tpfpjj;jpy; &. 774.40 Mf 
khWk; $l;Ltl;b MdJ tUlj;jpw;F xU Kiw fzf;fplg;gLfpwJ. 
a. 11.5%   b. 12 %  c. 8%   d. 10% 

 

54. The principle that will yield a compound interest of Rs. 1632 in 2 years at 4% rate 
of interest per annum is Rs._______. 
4% Mz;L tl;b tPjg;gb 2 Mz;Lfspy; ì 1632 $l;L tl;b jUk; mry;  
ì________ Mf ,Uf;Fk;.  
a. 20,000   b. 25,000  c. 30,000   d.  35,000 
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55. At what rate of compound interest per annum will a sum of Rs. 1200 become Rs. 
1348.32 in 2 years? 
&.1200 MdJ ,uz;L tUlj;jpy; &.1>348.32 Mf khw $l;L tl;b tpfpjk; ahJ? 
a. 7.5%   b. 6.5%  c. 7%   d. 6% 

 

56. Vicky borrowed ₹ 26,400 from a bank to buy a scooter at the rate of 15% p.a. 
compounded yearly. What amount will he pay at the end of 2 years and 4 
months to clear the loan? 
tpf;fp xU ];$l;liu thq;f xU tq;fpapy; &. 26>400 If; fldhfg; 
ngw;whu;.Mz;L tl;b 15% tPjk;> Mz;Lf;nfhU Kiw tl;b fzf;fpl;lhy;; 2 
Mz;Lfs; 4 khjq;fs; Md gpd; jd; flid milf;f mtu; vt;tsT nrYj;j 
Ntz;Lk;? 
a. Rs. 36659.70  b. Rs. 34914 c. Rs. 35559.50  d. Rs. 41550.50 

 

57. A sum of money invested in compound interest amounts to Rs. 800 in 3 years 
and to Rs. 840 in 4 years. The rate of interest per annum is  
xU njhif $l;L tl;bapy; 3 tUlj;jpy; & 800 MfTk; 4 tUlj;jpy; & 840 
MfTk; cah;fpwJ vdpy;> xU tUlj;jpa tl;b tPjk;  

a. 2 ½ %  b. 4%   c. 5%   d. 6
2

3
% 

 

58. A sum of money becomes Rs.45,000 after 2 years and Rs.64,800 after 4 years on 
compound interest. The sum is. 
xU Fwpg;gpl;l njhif $l;L tl;b mbg;gilapy;> ,uz;L Mz;Lfspy; &.45>000 
MfTk;> 4 Mz;Lfspy; &.64>800 MfTk; MfpwJ vdpy;> me;jj; njhifiaf; 
fz;Lgpbf;fTk;. 
a. Rs.31250         b. Rs.32520         c. Rs.34250         d. Rs.35000 

 

59. At what rate percent compound interest does a sum of money become nine-fold 
in 2 years?  
a. 100%   b. 200%   c. 300%   d. 150% 
$l;L tl;b Kiwapy;> xU njhifahdJ ,uz;L Mz;Lfspy; xd;gJ klq;F 
Mfpd;wJ vdpy;> mjd; tl;b tPjk; ahJ?  
a. 100%   b. 200%   c. 300%   d. 150% 

 

60. What will be the difference between simple and compound interest at 10% per 
annum on a sum of Rs.1,000 after 4 years? 
&.1>000 mryhdJ tUlj;jpw;F 10% tl;b tPjj;jpy; 4 tUlj;jpw;F gpwF 
fpilf;Fk; jdptl;bf;Fk;> $l;L tl;bf;Fk; cs;s NtWghL ahJ? 
a. Rs. 32.10   b. Rs. 64.10  c. Rs. 65.20   d. Rs. 66.45 
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TEST IV 
UNIT VI INDIAN ECONOMY & UNIT X 

APTITUDE AND MENTAL ABILITY 
 

1 2 3 4 5 6 7 8 9 10 
B C D C A B D A C D 

11 12 13 14 15 16 17 18 19 20 
C A A B B B C D B A 

21 22 23 24 25 26 27 28 29 30 
D A D D B C C A D B 

31 32 33 34 35 36 37 38 39 40 
A C D C D D B D D B 

41 42 43 44 45 46 47 48 49 50 
B A C B A D C B A D 

51 52 53 54 55 56 57 58 59 60 
A C D A D A C A B B 
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41. The difference between the compound interest and simple interest accrued 
on an amount of ì 18,000 in two years is ì 45. Then the rate of interest per 
annum is  
a. 12%   b. 5%   c. 18% d. 10%  
,U tUlq;fspy; ì 18,000 kPjhd $l;L tl;b> jdptl;b Mfpatw;wpd; 
tpj;jpahrk; ì 45 vdpy; tUltl;b tPjk;  
a. 12%   b. 5%   c. 18% d. 10%  

 
Explanation: 
 
C.I - S.I = Rs. 45, P = Rs. 18,000  
   n = 2 yrs, r = ?  

   C.I – S.I = 
2

100

r
P
 
 
 

 

    45 = 18,000 
2

100

r 
 
 

 

    r = 5%  
 

42. A sum of money becomes eight times of itself in 3 years at compound 
interest. The rate of interest per annum is:  
a. 100%    b. 80%   c. 20%   d. 10% 
$l;L tl;bf;F tplg;gLk; xU Fwpg;gpl;l njhif 3 Mz;Lfspy; mijg; 
Nghy vl;L klq;fhfpwJ vdpy; Mz;L tl;b tPjk; vt;tsT?  
a. 100%    b. 80%   c. 20%   d. 10% 
 
Explanation: 

 
3

3

8 1
100

8 1
100

2 1
100

100%

R
P P

R

R

R

 
  

 

 
  
 

 



 

 

43. Find the compound interest on ` 20,000 at 15% per annum for 1
2

3
 years. 

a.Rs. 7,572.50  b.Rs.7,500.20  c. Rs. 7,772.50   d. Rs. 7,552.50 

20>000f;F 15% Mz;L tl;b tPjj;jpy; 1
2

3
 Mz;LfSf;Ff; $l;L tl;biaf; 

fhz;f 
a.Rs. 7,572.50  b.Rs.7,500.20  c. Rs. 7,772.50   d. Rs. 7,552.50 
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Explanation: 

 

 
 

44. The population of a village has a constant growth of 5% every year. If its 
present population is 1,04,832, what was the population two years ago 
approximately? 
a. 115577  b. 95,086  c. 96,450  d. 98,063 
xU fpuhkj;jpd; kf;fs; njhif xNu rPuhf xt;nthU Mz;Lk; 5% tPjj;jpy; 
$bf;nfhz;L nry;fpwJ. ,g;nghOJ mjd; kf;fs; njhif 1>04>832 vdpy; 
,uz;L Mz;LfSf;F Kd; vd;dthf ,Ue;jpUf;Fk;?(KOvz; jpUj;jkhf) 
a. 115577  b. 95,086  c. 96,450  d. 98,063 
  
Explanation: 

105 105
104832

100 100

104832 100 100

105 105

95085.71

95086

P

P

  

 






 

 
45. Find the difference between Simple Interest and Compound Interest for a 

sum of ` 8,000 lent at 10% p. a. in 2 years. 
a.Rs.80  b.Rs. 50  c. Rs. 30  d. Rs. 95 
&.8000f;F 10% tl;b tPjk; vdpy; ,uz;L Mz;Lfspy; fpilf;Fk; $l;L 
tbf;Fk; jdptl;bf;Fk; cs;s tpj;jpahrj;ijf; fhz;f. 
a.Rs.80  b.Rs. 50  c. Rs. 30  d. Rs. 95 
Explanation: 
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46. Find the compound interest on Rs. 15,625 for 9 months, at 16% per annum 
compounded quarterly.  
a. Rs. 1,990  b. Rs. 1,968  c. Rs. 1,937  d. Rs. 1,951 

& 15>625 I 9 khjq;fSf;F 16% Mz;L tl;b tPjj;jpy; KjyPL nra;jhy;> tl;b 
fhyhz;Lf;F xU Kiw Nrh;f;fg;gl;lhy;> $l;L tl;biaf; fhz;f.  
a. Rs. 1,990  b. Rs. 1,968  c. Rs. 1,937  d. Rs. 1,951 
 

Explanation: 
  P = Rs. 15625  

  r = 16% p.a = 4% = 
16

4%
4
  

  n = 9 months = 3 quaters  

  A = P 1
100

n
r 

 
 

 

      = 15625 
3

4
1

100

 
 

 
 

      = Rs. 17576 
  C.I = A – P = Rs. 1951 

 

47. Find the compound interest on Rs. 20000 for 1
3

2
 years at 20% per annum 

compounded yearly? 
a. 10816   b. 38016  c. 18016  d. 16081 
Mz;Lf;nfhUKiw tl;b fzf;fplg;gLk; Kiwapy; 20% Mz;L tl;b 

tPjj;jpy;  1
3

2
 Mz;LfSf;F 20000 &gha;f;fhd $l;L tl;bia fhz;f. 

a. 10816   b. 38016  c. 18016  d. 16081 
 
Explanation: 
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48. The time taken for `4400 to become `4851 at 10%, compounded half yearly 

is _______. 

a. 6 months   b. 1 year    c. 1
1

2
years   d. 2 years 

10% Mz;L tl;bapy;> miuahz;Lf;nfhU Kiw tl;bf; fzf;fplg;gl;lhy;> 
`4400 MdJ `4851 Mf ______ Mz;Lfs; MFk;. 

a. 6 khjq;fs;   b. 1 Mz;L   c. 1
1

2
Mz;Lfs;  d. 2 Mz;Lfs; 

Explanation: 

 

  
Equating power on both sides  
2n = 2  
n = 1 

 
49. Certain sum of money invested at a certain rate of compound interest 

triples in 7 years. In how many years will it become 81 times?  
a. 28 years   b. 36 years   c. 72 years  d. 77 years  
xU Fwpg;gpl;l $l;L tl;b tPjj;jpy; KjyPL nra;ag;gLk; xU Fwpg;gpl;l 
njhif 7 Mz;Lfspy; mijg; Nghy %d;W klq;fhfpwJ. mJ vj;jid 
Mz;Lfspy; 81 klq;fhFk;?  
a. 28 Mz;Lfs;   b. 36 Mz;Lfs;   c. 72 mz;Lfs;  d. 77 Mz;Lfs; 
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Explanation: 

7

1

7

3 1
100

3 1
100

R
P P

R

 
  

 

 

 
The sum of money becomes 81 times itself at the same rate of compound 
interest  

R
81P=P 1+

100

T

 
 
 

 

1

4 73 3

4
7

28

T

T

T years

 
  
 





 

 
50. A person gets Rs. 50,000 (Fifty thousand) as loan with interest rate 4% p.a. from a 

bank. If the interest is calculated year wise, then the compound interest, after 
two years, is 
a. Rs.4,000   b. Rs.2,000  c. Rs.2,080     d. Rs.4,080 
xUth; Mz;L tl;b 4% vd &. 50>000 (Ik;gjhapuk;) tq;fpapypUe;J fldhf 
ngWfpwhh;. Mz;Lf;nfhU Kiw tl;b fzf;fpl;lhy;> ,uz;L Mz;Lfs; fopj;J 
mth; fl;l Ntz;ba $l;L tl;bahdJ  
a. Rs.4,000   b. Rs.2,000  c. Rs.2,080     d. Rs.4,080 

 
Explanation: 

 
  Let P = Rs. 50,000; n = 2 yrs  
   R = 4%  

   A = P 1
100

n
R 

 
 

 

   = 50,000 
2

4
1

100

 
 

 
 

    A   = 54080  
   CI = A – P = 54080 - 50000 
    = Rs. 4080  
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51. The compound interest on Rs. 30,000 at 7% per annum is Rs. 4, 347. The 
period (in Years) is  

a. 2 years  b. 2 
 

 
 years  c. 3 years  d. 4 years 

&. 30>000 vd;w njhiff;F> Mz;bw;F 7% $l;L tl;b tpfpjj;jpy; vj;jid 
Mz;Lfspy; $l;L tl;b &4>347 fpilf;Fk;;? 

a. 2 years  b. 2 
 

 
 years  c. 3 years  d. 4 years 

 
Explanation: 

Amount = 30,000 + 4347 
   = 34347 
  P = Rs. 30,000, R = 7%, n = ?  

  Now, A = P 1
100

n
R 

 
 

 

       34347 = 30000 
7

1
100

n

 
 

 
 

      
2

11449 107

10000 100

 
 
 

 

     n = 2 yeras 

 
52. The difference between compound interest and simple interest on a sum 

for 2 years at 8 percent is ì  768. The sum is 
a. ì  1,00,000  b. ì l, 10,000  c. ì 1,20,000               d. ì 1,70,000    
,uz;L tUlq;fSf;F 8% tl;b tpfpjj;jpy; vspa kw;Wk; $l;L tl;bf;Fk; 
cs;s NtWghL ì 768 vdpy; njhifahdJ 
a. ì  1,00,000  b. ì l, 10,000  c. ì 1,20,000               d. ì 1,70,000    
 
Explanation: 

 
C.I – S.I = Rs. 768, n = 2 yrs  

    r = 8%, P = ?  

  C.I – S.I = 
2

100

r
P
 
 
 

 

   768 = 
2

8

100
P
 
 
 

 

   P = Rs. 1,20,000  
 
53. At what rate percent of compound interest per annum will Rs. 640 amount 

to Rs. 774.40 in 2 years, when interest is being compounded annually? 
a. 11.5%   b. 12 %  c. 8%   d. 10% 
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&.640 mryhdJ 2 Mz;Lfspy; ve;j $l;L tl;b tpfpjj;jpy; &. 774.40 Mf 
khWk; $l;Ltl;b MdJ tUlj;jpw;F xU Kiw fzf;fplg;gLfpwJ. 
a. 11.5%   b. 12 %  c. 8%   d. 10% 
 
Explanation: 

 
P = 640, A = 774.40, n = 2 yrs  
 Then,  

  A = P 1
100

n
r 

 
 

 

  774.40 = 640 
2

1
100

r 
 

 
 

    
2

774.40
1

100 640

r 
  

 
 

    1 1.1
100

r
   

         r = 10%  
 
54. The principle that will yield a compound interest of Rs. 1632 in 2 years at 

4% rate of interest per annum is Rs._______. 
a. 20,000   b. 25,000  c. 30,000   d.  35,000 
4% Mz;L tl;b tPjg;gb 2 Mz;Lfspy; ì 1632 $l;L tl;b jUk;  mry;  

   ì ________ Mf ,Uf;Fk;.  
a. 20,000   b. 25,000  c. 30,000   d.  35,000 
 
Explanation: 

 
C. I = Rs. 1632, n = 2 yrs. r = 4%  
     P = ?  

    A = P 1
100

n
r 

 
   

 

    1632 + P = P 
2

4
1

100

 
 

 
 

     P = Rs. 20,000  
 
55. At what rate of compound interest per annum will a sum of Rs. 1200 

become Rs. 1348.32 in 2 years? 
a. 7.5%   b. 6.5%  c. 7%   d. 6% 
&.1200 MdJ ,uz;L tUlj;jpy; &.1>348.32 Mf khw $l;L tl;b tpfpjk; 
ahJ? 
a. 7.5%   b. 6.5%  c. 7%   d. 6% 
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Explanation: 
 

A = P 1
100

n
R 

 
 

 R = ?  

  1348.32 = 1200 
2

1
100

R 
 

 
 

    134832

120000
=  

2

1
100

R 
 

 
 

    53
1

50 100

R
   

  R = 6% 
 

56. Vicky borrowed ` 26,400 from a bank to buy a scooter at the rate of 15% p.a. 
compounded yearly. What amount will he pay at the end of 2 years and 4 
months to clear the loan? 
a.Rs. 36659.70  b.Rs. 34914 c. Rs. 35559.50  d. Rs. 41550.50 
tpf;fp xU ];$l;liu thq;f xU tq;fpapy; &. 26>400 If; fldhfg; 
ngw;whu;.Mz;L tl;b 15% tPjk;> Mz;Lf;nfhU Kiw tl;b fzf;fpl;lhy;; 2 
Mz;Lfs; 4 khjq;fs; Md gpd; jd; flid milf;f mtu; vt;tsT 
nrYj;j Ntz;Lk;? 
a.Rs. 36659.70  b.Rs. 34914 c. Rs. 35559.50  d. Rs. 41550.50 
 
Explanation: 

 

 

2

2

15 1 15
Amount = 26400 1+ 1

100 3 100

21
26400 1.15

20

= 36,659.7

   
    

   

 
  

 
 

 
57. A sum of money invested in compound interest amounts to Rs. 800 in 3 

years and to Rs. 840 in 4 years. The rate of interest per annum is  

a. 2 ½ %  b. 4%   c. 5%   d. 6 2

3
% 

xU njhif $l;L tl;bapy; 3 tUlj;jpy; & 800 MfTk; 4 tUlj;jpy; & 
840 MfTk; cah;fpwJ vdpy;> xU tUlj;jpa tl;b tPjk;  

a. 2 ½ %  b. 4%   c. 5%   d. 6 2

3
% 

Explanation: 
 
S.I on Rs. 800 for 1 year = 40  
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   Rate = 40 100

800 1




= 5% 

 
58. A sum of money becomes Rs.45,000 after 2 years and Rs.64,800 after 4 years 

on compound interest. The sum is. 
a. Rs.31250         b. Rs.32520         c. Rs.34250         d. Rs.35000 
xU Fwpg;gpl;l njhif $l;L tl;b mbg;gilapy;> ,uz;L Mz;Lfspy; 
&.45>000 MfTk;> 4 Mz;Lfspy; &.64>800 MfTk; MfpwJ vdpy;> 
me;jj; njhifiaf; fz;Lgpbf;fTk;. 
a. Rs.31250         b. Rs.32520         c. Rs.34250         d. Rs.35000 
 
Explanation: 

45000 = P 
2

1
100

R 
 

 
    ...... (1)  

  and 64800 = P 
4

1
100

R 
 

 
     ........ (2)  

 (2)  (1) 

  
2

64800
1

45000 100

R 
  
 

 

  
2

36
1

100 25

R 
  

    
in (1) 

    
36

45,000
25

P   

  P = Rs. 31250  
 
 

59. At what rate percent compound interest does a sum of money become nine 
fold in 2 years?  
a. 100%    b. 200%   c. 300%   d. 150%  
$l;L tl;b Kiwapy;> xU njhifahdJ ,uz;L Mz;Lfspy; xd;gJ klq;F 
Mfpd;wJ vdpy;> mjd; tl;b tPjk; ahJ?  
a. 100%    b. 200%   c. 300%   d. 150% 
 
Explanation: 

2

2

9 1
100

1 9
100

3 1
100

200%

r
x x

r

r

r

 
  

 

 
  

 

 


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60. What will be the difference between simple and compound interest at 10% 
per annum on a sum of Rs. 1,000 after 4 years? 
a. Rs. 32.10  b. Rs. 64.10  c. Rs. 65.20   d. Rs. 66.45 
&.1>000 mryhdJ tUlj;jpw;F 10% tl;b tPjj;jpy; 4 tUlj;jpw;FgpwF 
fpilf;Fk; jdptl;bf;Fk;> $l;L tl;bf;Fk; cs;s NtWghL ahJ? 
a. Rs. 32.10  b. Rs. 64.10  c. Rs. 65.20   d. Rs. 66.45 
 
Explanation: 
 

     S.I = 
100

Pnr  

  = 1000 4 10

100

   

  = Rs. 400  

  A = P 1
100

n
r 

 
 

   

  = 1000
4

10
1

100

 
 

 
 

  = Rs. 1464.10  
 C.I = A – P = Rs. 464.10  
 Now, C.I – S.I = Rs. 64.10  
 

 


